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>>> A =1{1,2,3,4,5,6,7,8,9,10}
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>>>B=13,1,4,5,9,6,2,7,8, 10}
>>> A ==
True
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>>> A
{1,2,38,4,5,6,7,8,9, 10}
>>> A.add(10)

>>> A
{1,2,38,4,5,6,7,8,9, 10}
>>> len(A)

10
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>>>U=11,2,3,4,5,6,7,8,9,100 @— H£AH5UZEE
>>>A=1{2, 4, 6, 8, 10} O H£L5ARESR
>>>A <=1U QO ELSANUITEENDDHER
True
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{2, 38,4,6,8,9, 10}
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>>>A — B @ ELEANLEARSBOEREREL
{2, 4, 8, 10}
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{3, 9}
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>>> animal = {‘dog’” K, ‘cat’” i, ‘bird” 5’}
[Enter] ... BEEA1ER

>>> gnimal

{‘dog,:’jt’, ‘Cat’i’féﬁ’, ‘bird’:’,%,}
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>>> animal[‘cat] ="x =’
[Enter] ... Pcat’] OEZZHE

>>> animal

{‘dog,:,jt’, ‘Cat’:’* :7’ ‘bird,:,,%,}

>>> animal[‘mouse’] = ‘¢ X 3’
{dog’” R, ‘cat’” % =2, ‘bird’” ', ‘mouse’” Rk R I’}
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>>>blood_type = {‘a”A A’ "b’’B &, ’ab’”AB &Y, 0’0 %’}

>>> blood_type.keys() [Enter]
dict_keys([a, b, ‘ab’, ‘0’])

>>> blood_type.values() [Enter]
dict_values([‘A %", ‘B &Y’, ‘AB %Y, ‘O #Y])

>>> blood_type.items() [Enter]
dict_items([(a', 'A %), ('b', 'B LY, (ab', 'AB %), (o', 'O %))
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dic — {“%”:”Spring”’ “E”:”Summer”, “*}(”:”Autumn”, “g”:”winter”}

for jap, eng in dic.items():
print(“4}:1}” format(Gap, eng))
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lang ={ “Java” 12, “CH#” B8, “VB"” 5, “JavaSecript” 15}

l1lnin 2 °
printl “JOHAFIELA" format(l, n))
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>>>1mport itertools
>>>num=1{1,2,3,4,5,6,7,8,9 @O T HEER
>>> A = set(itertools.permutations(num, 2))
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>>> len(A) O ADEZEEHMD

72

>>> for a in A: QO ADEHEBIZIT I/ EATEHIL—T
print(a) @ EELEMmIZHS
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===import itertools
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>>>import math

>>> math.factorial(5) @ 5DEFEELRDD
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>>>num = {1, 2, 3, 4, 5} Q- T HEEFR
>>> A = get(itertools.combinations(num,?2))
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print(a)
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import random
# YA anziRs
cnt = 0 #1 257 [l %
for iin range(10000):
dice = random.randint(1,6)
if dice == 1:

cnt +=1

# WMEREZRD D
p = cnt / 10000
print(p)
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